ch06_#7 &1 ik

FHI-2,a,b, T E L85 I a,b,p,gFEVES P ptg=?

(A)60  (B)70  (C)80  (D)90 [114C07)

Ans - (C)



T

JERY VEBES - B kD Z A EFTE S Gldod n=123FF > bR o ik

SR B SO K EFHFR UL LD

(A) 3675 n=1 n=2 n=3

(B) 3825 A %

(C) 7500

(D) 7803 [113C20)
Ans : (B)



oFaf G 2018 EAT Lo 50 AR R - RRE 0 B 2023 EA gk cRLERE T
BREH 5 - K60 o FP R 60 AT ARG A EFIEJF TR o BT
S

(A)50x° =60  (B)50x(1+r)° =60  (C)50x(r+r’+r +r*+r)=60
D)50x[(1+r)+A+r)Y +(A+7r) +(1+7r)* +(1+7)’]=60 [112C13]

Ans : (B)



S ae Bt Ha (a) E I g =2 0 A r=3 0 FH o e 3 2022 0 Bl TE &b TR

fen="7?
(A)S5 (B)7 ©)9 (D) 11 [111C02]
Ans : (B)



 Lm-2 o k-1 54 . ,
»——a: \b: N o= ,E]vj"[}qié'{iiia_ﬂﬁﬁ?
- Z:;Zm—l ,;2“1 ;21'—5 P

m

(A)b>a>c B)c>a>b C)c>a=b (D)a=b>c [110C06])

Ans - (D)



FHIRILE P 4P TP REF AR B F PRI A o 540 5 p Rk 4]
B4 13p 35730 Ple 4G 82 skicd® 100 B ?
(A)1I0  (B)1l  (C)12  (D)13 [109C09)

Ans : (B)



)| = Yoz L . i “1; ?
cavfa ) AR AWIN B a >0 a;=3a, Rl ni s @ a Biif ik

(A)14  (B)15 (©)16 (D)17 [108C13)

Ans : (C)



10
> (2" +3n+2)=7?
n=1

(A)1268  (B)1298  (C)2017  (D)2231 [107C13)

Ans (D)



Xa~brcZFHAEVE P B a+tb+c=9% P +b°+c" =189 s BlEw P B H= 2
(A)—6 (B) -2 ©) % (D)6 [106CI3])

Ans : (A)



Ka~brcrdre~fr I EVHP] 0 P ira+c+e=168 0 b+d+ =84 Bl d 2 E:
w9
(A)6 B)9 (C) 16 (D) 32 [105C13])

Ans - (C)
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cirr Br¥ka~b-c~d i FvEd o Fa+b=20 > a+b+c+d=65>Rla="7?
(A)5  (B)6 (CO)7 (D)8 [104C18])

Ans (D)
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?FL( - '?'-' L l‘é&ﬁ'{ﬁ”‘}: ,;_ 1%? ;5 4 ’ /4\ pL ‘; —— 9 gy n IE «frv:i 6560 5 ‘|
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(A)7 (B8 (C)9 (D)10 [103C04]

Ans : (B)
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RKa~-brcZBEHLITFHE P va+c=36 Fa -~ b 122 F LK 2-b~c

«:ﬁi:%\_ﬂ:-“:ﬁ'{;l IR L R A= oy E i‘?
(A) b+c=32 B) a+b=12 (C) b*=2c (D) 2b=a+12 [103C22])
ns : (A)
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Fo 82,20, 18 2 a+4,2,a+T A%V I RIT SR LA D
(A) —6<a<—4 (B) —4<a<-2 (C) 2<a<4 (D) 4<a<6 [101C11])

Ans : (B)
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EXprgqa- R FH ¥a - FLE D% nigega,=qa=p-ta, =7

Ao ®Bp ©gqg (@D ptgq [98C13]

Ans : (A)
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